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Name:
CC Geometry
Rectangles
1) Inthe accompanying diagram, ABCD is a 3)  Inrectangle ABCD, AC and BD are diagonals.
rectangle, E is a point on CD, m£DAE =30°,
and m£CBE = 20°. D C
A B
30° t/\ !
20° A B
X If mzI = 55°, find mZABD.
D E C
What is m£x?
A) 50° C) 60°
B) 25° D) 70°
2) In rectangle ABCD, diagonals AC and BD 4) In rectangle ABCD with diagonals AC and ﬁ,
intersect at point E. If AE = 20 and BD = 2x + 30, AC =3x-15and BD = 7x - 55. Find x.
find x.
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5) In the diagram below, ABCD is a rectangle with diagonaIsE and BD.

D c
3
g &4
2.
A B

If me1 = (3x+ 14)° and m£4 = (2x - 9)°, find the value of x.

6)

Given: PQRSis a rectangle
M is the midpoint of SR

Prove: W = Wl
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Answer is aproof.

Answer Key 4762 -1- Page 1



